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Important Instructions
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\ \QUESTION PAPER SPECIFIC INSTRUCTIONS

Please read each of the following instructions carefully before attempting questions.
There ar\TWgN T} questions printed both in HINDI and in ENGLISH.

All guestions are‘com;idsom

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be stated
clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No marks will be
given for answers written in a medium other than the authorized one.

Answers to Questions No. I to 10 should be in 150 words, whereas answers to Questions No. 11 to 20
should be in 250 words,

Keep the word limit indicated in the questions in mind.

Any page or portion of the page left blank in the Questions-cum-Answer Booklet must be clearly struck

off-
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Stating the issues associated with agricultural extension in India, discuss the role of Krishi

Vigyan Kendras (KVKs) in strengthening the national agricultural research extension system.
(Answer in 150 words) 10
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In India, the food processing sector is emerging as a high-growth and high-profit sector due to its
immense potential for value addition. Discuss. (Answer in 150 words) 10
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Explaining the concept of livestock-based Integrated Farming System (IFS), discuss its benefits.
(Answer in 150 words) 10
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While Persons of Indian Origin (P1O) are spearheading entrepreneurship across the world, India
still has one of the lowest entrepreneurship rates. Discuss. Also, state the policy measures that
have been taken to increase the pace of entrepreneurship in India. (Answer in 150 words) 10
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‘Land banks’ can play a critical role in boosting the economy and promoting ease of doing
business in India. Discuss. (Answer in 150 words) 10
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HATEAT 81 == 7 Fiform) (397 150 =51 # F)

The proposed amendments to the Forest Conservation Act (FCA) are not only antithetical to the
Forest Rights Act (FRA), but are also likely to delay India achieving its commitments on climate

change. Discuss. (Answer in 150 words)
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The problem of flooding in urban areas is not only due to overflowing rivers, but also the
uninformed ways in which our cities are coping with urbanisation. Discuss. In this context,
mention the National Disaster Management Authority guidelines on urban floods. (Answer in 150
words) 10
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State the reasons behind targeting of Critical Information Infrastructure (CII) by state and non-

state actors. Also, discuss the steps taken by the Indian government to secure its CII. (Answer in
150 words) 10
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Despite the strategic significance of North-East India, the region faces several security threats.

Discuss. Also, state the measures taken by the government to ensure peace and stability in the
region. (Answer in 150 words) 10
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Indian Railways has suffered from chronic under-investment, which has adversely impacted key
areas of its operations. In this context, discuss the challenges faced by the railways in speedy

creation of infrastructure. Also, mention the steps taken by the government in this regard.
(Answer in 250 words) 15
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A disruptive approach to research & development (R&D), with a focus on last mile obligations of

the agricultural system is necessary to realize India's objective of doubling farmer's income.
Discuss. (Answer in 250 words) 15
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India’s power distribution companies and electrical grids must undergo reforms to transition
fossil fuels to more sustainable forms of rﬂzﬂﬂg energy. Discuss. (Answer in 250 words) 15
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T =T FT (ITAT 250 =3t 7 F) Chadidsten

The practice of input-intensive agriculture in India needs a massive overhaul due to its wr;te on
marg

unsustainability and negative consequences. In this context, discuss the significance of Low
External Input Sustainable Agriculture (LEISA). (Answer in 250 words) 15
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Zre 1 & 9T IPCC #Y 8t e fTdTE (ARG) — 2021 Ft Wt F o ‘e =" w7 14
2 = " §, e o7 RAY e 39 gw w Rard # gemr f wg [ R 1 G
Ffsrm) ar &, 77 Frird g g SwsToens 30t # oft gfag fif (3 250 a==T §
3)

The recently released IPCC Sixth Assessment Report (AR6) — 2021 has been deemed as ‘code

red” for humanity. In this context, discuss the various concerns raised in the report with special
focus on India. Also, enlist the remedial measures given by the report. (Answer in 250 words) 15
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AT 9 AT & w7 Foamarraaw # §9 fme a5 #2 e et § 9w § @971
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=t # 3)

Multiple chemical disasters from the Bhopal gas tragedy to gas leak in Visakhapatnam have
brought into focus the risks posed by hazardous chemicals (HAZCHEM) in India. In view of this,

discuss the preparedness as well as gaps in Chemical Disaster Management (CDM) in India.
(Answer in 250 words) 13
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HETATET  qOT qra ot TaTee] § Ha{od Teqa AT qara & STETHT 67 a@dt 7T F FAATT
At TUaT AT F g9 § wgeaqot gai #3217 2 FEw fifsm) (3w 250 9511 | F)

The growing demand for liberalisation of public health-related goods and services amidst the
pandemic has raised critical issues with regard to the current intellectual property regime.
Discuss. (Answer in 250 words) 15
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Highlighting the reasons behind suboptimal results in indigenization of defence technologies in

India, suggest measures which can accelerate the pace of indigenization in the defence sector.
(Answer in 250 words) 15
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250 91531 ® )

Discuss the factors behind conceptualization of different Central Armed Police Forces for

security of India. (Answer in 250 words) 15
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Discuss the vulnerability of virtual assets in terms of their misuse for money laundering activities.
Also, state corrective measures that can be taken to mitigate the risks posed by the use of virtual
assets. (Answer in 250 words) 15

No VR (WICWEY Cu I

il ewd,éuﬁ ETL %W“M”‘Y :
OWiC Q\/\CQQQQM
R g e

‘E&@\‘f'/ woll 8 sUuest @“&”%’
mﬁ*/\%ohﬁﬁxd— - fw&
é@?@ B ST,

53

o e (WAt = tRE) afafafiat F for smareft aftsafet ¥ geadnn ¥ @2 #, 39 qiem sy
7T =1 Fifem wm &, 39 gerens surEt w1 o 3w fift, 51 A ofeeRay F e

ﬂﬂﬂﬂﬂ



[EUU\)@QM&ﬂl
@ lowo d@azsgid_ﬁ. H{Mlﬂ - uoltewn

o . 7 (ORnL_
o e

(2105 st et - Reloes
g S

WWM of M%WMQ&

< wiP W ar e {
ittt e

@ Dbty - C).A;,p&—ou.m-\zlf’]
&wﬁ Q&ka froun Gootockud
| | ountiounaesd we
[ ¢ e | (D) o Retueoh woorkderm
[R5 oy
D et 5y 7 g

data Ovome — W) uu«ecm% .

(2 Retstg o [Rpp va] for saperens



Rpps.

@ji) cohat o - (overomaon iould
B &T}7(1M£§I%§§%7 e Cﬂypkt>w¢nﬁuw+f LA

oo Xveter » Lol ZCEN
»mﬁm%%fi& euﬂ»j
W@‘OM \")ué}ww waskh

o o

55

SHILF
iy



